#

5 & E

OB b 75 B ORmOR
m 3% W EE S B M



iR MRS E A CERBR) BRAE

% il s - FRTiE Bt | % # B ® # =
EEAER 2,276,139. 00
HEH (2,276,139—42,911) x 77. 7%—1, 357 1,733, 861. 00
HEFEE 2,276, 139+1, 733, 861 4,010, 000. 00
AR E B 4,010, 000. 00
HEREHELE 4,010, 000 x 10. 0% 401, 000. 00
MEEHE 4,010, 000+401, 000 4, 411, 000. 00




HEANRE BT CERE) RRAE

£ £ g - BAKTiE Bif B = B i il %8 =

ERAEE 2,276, 139

EEAGES 2,050, 411

TaE% 95, 000

T &8¢ 1.00 95, 000 95, 000
Ey

IBEESAE 524, 258

2 EHE 5.00 12,930 64, 650
=

3 A 5.00 31, 540 157, 700
=1

4 B 5.00 34,412 172, 060
=

5 HEEE 5.00 20, 035 100, 175
=1

6 BEREES 1.00 29, 673 29,673
=t

IREESAE 550, 666

T fErE 19.00 2,475 47,025
=

8 EA 19.00 7,432 141, 208
=

SR F] 19.00 11,311 214,909
=3

10 stEEm 19.00 5, 494 104, 386
=3

1 BRERS 1.00 43,138 43,138
=

SREAHAIE WEENE) 490, 886

12 fEEstE 1.00 55, 220 55, 220
75




BERRE

MBI T EERR CBRBR) BRRE

£ £ B - BIKHR Bify £ i £

13 EERRUVBRIRADEE - 8§l 0.019 3,804, 900 72,293
km2

14 UAVIZ & BZhiRE 0.019 2,295,000 43, 605
km2

15 ZEREMKRET (U PFILT—2DERK) 0.019 1,269, 100 24,112
km2

16 950  FT—42DERRUEEE 0.019 2,440, 800 46, 375
km2

17 MEEET—42 77 1 JLIER 0.019 2,643,100 50, 218
km2

18 BMET—2774/LDERK 0.019 2,177,300 41, 368
km2

19 HBERES 1.00 157, 695 157, 695
=®

ERTEBAZE (EL—Y) 389, 601

20 f{EEEE 1.00 62,100 62, 100
e

21 EEEDHRE - Al 0. 004 3,475,000 13,900
km2

22 b L—EHA 0. 004 6, 088, 000 24, 352
km2

23 U599V RTF—2%0ERK 0. 004 3,270, 600 13,082
km2

24 HtEWET—42 77 1 LIERL 0. 004 3,603, 900 14, 415
km2

25 BMET—2I774ILDER 0. 004 4,692, 200 18,768
km2

26 HHMBRES 1.00 242,984 242,984
=®

EERE 58, 000

21 BFHRERERE 1.00 58, 000 58, 000
=®

BRinEEE

167,

128




EERRE BT % CERE) R B
% # i - ok B g L ¢ @ =
28 REEEEH 1.00 124,817 124,817
=
29 BRETEE 1.00 42,911 42,911
=




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

51
&% TEE 1 4y
[ g - IR B B = {itt 28 W = i &
A2 EEHER
A 1.00 51, 000. 00 51, 000
PR T
A 1.00 44,000. 00 44,000
=) it YE¥8EhN - 1.00X &Y 95, 000. 00 95, 000
&5 2
£ FEEE 1| 4y
L3 R - BT BAfL ® = il 2 B = B =
R FEHE
A 2.00 51,000. 00 102, 000
B = HEm
A 2.00 44,000. 00 88, 000
B = H A
A 2.00 34, 300. 00 68, 600
& it YEERES - 20.00 HY 12,930.00 258, 600
&5 :3
L Ea 15 %Y
fa R - BT B B = i 25 = i &
R EHER
A 6.00 44,000. 00 264, 000
RIS ED#E
A 6.00 34, 300. 00 205, 800
RIEBF
A 5.00 32,200. 00 161,000
=) it YE¥HEDN 0 20.008 HY 31, 540. 00 630, 800
&5 4
&% . #Al 1= 3y
[ g - IR B B = {itt 28 W = i &
PR T
A 5.50 44,000. 00 242,000
IS A
A 5.50 34, 300. 00 188, 650
FIEEES
A 8.00 32,200. 00 257, 600
=) it YE¥ERED 1 20.008 HY 34,412.00 688, 250




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

5.5
& FTEERE 1m 4y
[ R - IRHE BT B = B %5 W = i &
B8 F AR
A 1.00 51, 000. 00 51, 000
PR T
A 3.00 44,000. 00 132,000
IS A
A 4.00 34, 300. 00 137, 200
FIEEES
A 2.50 32,200. 00 80, 500
=) it YE¥ERED 1 20.008 HY 20, 035. 00 400, 700
E=S:6
£ BB ES 1 Y
% f73 g - IR BfRL ¥ = E %5 B = B =
HmiEE
% 3.00 494, 585. 00 14, 837
BIEERES
% 1.50 494, 585. 00 7,418
HHE
% 1.50 494, 585. 00 7,418
& G YEZERESD :1.00X Y 29,673.00 29,673
&5 :7
2 FEEE 1 %Y
E R - BIRHE I % = B 2 = i &
B8 FEHEm
A 0.50 51,000. 00 25,500
I E HEm
A 1.00 44,000. 00 44,000
B2 e
A 0.50 34, 300. 00 17,150
=) it YE3¥HEH : 35.008 B Y 2,475.00 86, 650
%5 .8
2% 8m 18 %Y
[ R - IRHE BT B = B %5 W = i &
PR T
A 2.50 44,000. 00 110, 000
IS A
A 2.50 34, 300. 00 85, 750
FIEEES
A 2.00 32,200. 00 64, 400
=) it YE¥RESN : 35.008 XY 7, 432.00 260, 150




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

EF5:9
2F &R 1| 3y
E R - BIRTE B B = B 4 2 i i &
B = HEm
A 3.00 44,000. 00 132,000
B = H A
A 3.00 34, 300. 00 102, 900
BIZEBF
A 5.00 32,200. 00 161,000
=) it YE3¥HEH : 35.008 B Y 11,311.00 395, 900
BE5:10
& AHEERE 1= 3y
[ R - AR Bfg % = B {f % 28 i i &
BIE EEHER
A 0.50 51, 000. 00 25, 500
R EHER
A 1.50 44,000. 00 66, 000
RIS ED#E
A 2.00 34, 300. 00 68, 600
REBF
A 1.00 32, 200. 00 32,200
& it YE¥RESN : 35.008 XY 5, 494. 00 192, 300
&= 1
2 BEEES 1 HY
[ R - AR Bfg % = B {f % 28 i i &
% 3.00 507, 528. 00 15, 225
BIEERES
% 3.00 507, 528. 00 15, 225
MHE
% 2.50 507, 528. 00 12,688
& G 1EXRERD : 1.00 HY 43,138.00 43,138




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

&5 :12
B EEEE 1% 41V
[ R - BIRTE B B = B 2 = 5 &
B2 EEHER
A 0.50 51,000.00 25,500
B = HEm
A 0.30 44,000. 00 13, 200
RIS EmE
A 0.20 34, 300. 00 6, 860
BIZEBF
A 0.30 32,200. 00 9, 660
& it YEZERED - 1.00%FE 1Y 55, 220.00 55, 220
BE 13
2% EERARURIIADERE - #Al 1km2 Y
£ L3 R - BT 2 B = B 2 = 5 &
R EHER
A 4.70 44, 000. 00 206, 800
RIS ED#E
A 1.10 34, 300. 00 37,730
REBF
A 3.30 32, 200. 00 106, 260
RIEHENE
A 1.10 27,000. 00 29, 700
& it {EZHED : 0.10km2 ZH U 3, 804, 900. 00 380, 490
BE 14
2% UNVIZ & DGR 1km2 &Y
% p R - AR By % = B {f 28 W = i &
PR T
A 3.20 44,000. 00 140, 800
AEBNF
A 2.00 32,200. 00 64, 400
HIEwWHBE
A 0.90 27,000.00 24, 300
= &t 1YEZRERN : 0.10km2 H Y 2,295, 000. 00 229, 500
&5 :15
B ERIWKET (F)OFILT—FDERK) 1km2 &Y
% L3 R - BAKTE BAfL 5 = B 2 Hm = &5 =
RIS EmE
A 3.70 34, 300. 00 126,910
& it YEEREDN : 0.10km2 H Y 1,269, 100. 00 126,910




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

BEE .16
M IS OV FT—2DERRUEEL 1km2 =Y
% p R - AR By % = B {f 28 W = i &
A2 EEHER
A 1.20 51,000. 00 61, 200
PR T
A 1.70 44, 000. 00 74, 800
2 B EmAE
A 2.40 34, 300. 00 82,320
AEBNF
A 0.80 32, 200. 00 25, 760
& it {EZHED : 0.10km2 ZH U 2, 440, 800. 00 244,080
&5 .11
2 MEEmT—42 7 7 4 ILIER 1km2 &Y
% L3 R - BAKTE BAfL 5 = B 2 Hm = &5 =
B2 EEHER
A 1.10 51,000.00 56, 100
B = HEm
A 2.50 44,000. 00 110, 000
RIS EmE
A 2.30 34, 300. 00 78, 890
BIZEBF
A 0.60 32,200. 00 19, 320
= it 1EZHERN : 0.10km2 H Y 2,643, 100. 00 264,310
%5 .18
B BBET—2 7271 ILDERK 1km2 &Y
£ [ R - BIRTE B B = B 2 = 5 &
BIE EEHER
A 1.40 51,000.00 71, 400
B EHER
A 1.80 44,000. 00 79, 200
RIS AT
A 1.30 34, 300. 00 44,590
REBF
A 0.70 32,200. 00 22,540
& it YEEREDN : 0.10km2 H Y 2,177, 300. 00 217,730
BHE5:19
2 BHEES 15 &Y
% p R - AR By % = B {f 28 W = i &
= 1.00 157, 695. 00 157, 695
& it YEERESN :1.00X &Y 157, 695. 00 157, 695




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

%E5:2
B EEEE 1% 41V
E R - BIRTE B B = B 2 i i &
B2 EEHER
A 0.70 51,000. 00 35, 700
B = HEm
A 0.60 44,000. 00 26, 400
=) it YEZERED - 1.00%FE 1Y 62, 100. 00 62, 100
E#E 2
2 ZEERDFE - Al 1km2 %Y
% p R - AR By % = B {f 28 i i &
PR T
A 4,90 44,000. 00 215, 600
REBF
A 2.00 32,200. 00 64, 400
RIEHENE
A 2.50 27,000. 00 67, 500
& it E%REH : 0.10km2 H V) 3, 475, 000. 00 347, 500
&5 .22
&% #hE L—HEHE Tkm2 &Y
4 L3 R - BT By ® = B 2 i B =
B = HEm
A 7.60 44,000. 00 334, 400
IS A
A 8.00 34, 300. 00 274, 400
& it YEERES : 0.10km2 H Y 6, 088, 000. 00 608, 800




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

BE5:23
M IS OV FT—25DER 1km2 =Y
% p R - AR By % = B {f 28 W = i &
A2 EEHER
A 1.00 51,000. 00 51,000
PR T
A 3.00 44, 000. 00 132,000
2 B EmAE
A 4.20 34, 300. 00 144, 060
& it {EZHED : 0.10km2 ZH U 3,270, 600. 00 327,060
EE .24
2 MEEmT—42 7 7 4 ILIER 1km2 &Y
% 7 B - BIKTiE BAfL 5 = B 2 Hm = &5 =
B2 EEHER
A 1.00 51,000.00 51,000
B = HEm
A 2.90 44,000. 00 127, 600
RIS EmE
A 5.30 34, 300. 00 181,790
= it 1EZHERN : 0.10km2 H Y 3, 603, 900. 00 360, 390
&5 :25
B R T—2 77 A ILDIERK 1km2 Y
£ L3 R - BT 2 B = B 2 = 5 &
BIE EEHER
A 1.10 51,000.00 56, 100
B EHER
A 4.40 44,000. 00 193, 600
RIS AT
A 6. 40 34, 300. 00 219, 520
& it YEEREDN : 0.10km2 H Y 4,692, 200. 00 469, 220
BE .26
£ BB ES 1 Y
% p R - AR By % = B {f 28 W = i &
= 1.00 242,984.00 242,984
& it YEERESN :1.00X &Y 242,984.00 242,984




Ktz - T/ \vr—

ML TEEEF (CERME) BRAE

BE5 21
2% BEFHRERIERE 1 HY
% p R - AR By % = B {f 28 W = i &
EFRERERERE
= 1.00 58, 000. 00 58, 000
& it YE¥EEH 1,00 HY 58, 000. 00 58, 000
&S .28
2% REEEE 1 By
4 L3 R - BT By ® = B 2 B = B =
MMEELAE
% 9.00 444,772.00 40, 029
MREELSAE
% 9.00 475, 728.00 42,815
=RxAEANE UAWEEAS)
% 6.00 388, 357.00 23, 301
ERTEBAE (EL—Y)
% 7.00 266, 755. 00 18,672
& it 1E%RERD : 1.00 HY 124,817.00 124,817
&5:29
& RRREE 1 4y
% fa R - BT B B = B 25 = i &
SMEEDAE
= 5.00 6, 500. 00 32,500
UAVEE =
km2 0.019 453, 000. 00 8, 607
hEL—HHE
km2 0.004 451, 000. 00 1,804
=) it YE¥EHeN - 1.00X &Y 42,911.00 42,911




